BB — A DAk B O PR 5

(ZBA9 2 R 00— 2 tE T S SR

FHE T — OB B OB HEICET 25861 (CEk2 144E4L61563 25) O—#%

RO LI ITWIET D,

(1) wkoOFRF, SAERTOHO NG 3T FA]) & Z AU S 2 BUE# OO N2y 5]

IV TN D B,

o E

4 IE i

(Fr EEMMT BB O #6 5 (2 B89 5 R i)

LA S

el fa kA & (1)
1 372,000
o 420, 000

(RPE 255 S5 IE FAEHAT IR B O #6512 B8 2 &
1)

(Fr AT B o #6 5 (2B 3 2 R )

TR

| == /%N

A A B H B (1)
1 371, 000
2 419, 000

(FPE 0 S IE FEHAT IR B O #6512 BI ¥ 2 &
1)

%8 5k ERES
18 %5 D % 1 %% 2 % 3 % 18k %5 D % 1 %% 2 & 3 &
Ta ek H &R ¥R A A
ik 155,800, 167,600, 184, 800 it 154,300 166,100 183, 300
(M) (M)
B
(hif T3 A %)

1 ZO5FNL,
T 556 (LT TS8EHOSEH &9, )
284 A1 HMGHEHAT %,

(k65 DNEL)
2

DHEIZ L DG ONELE AT,

NATD B BREAT L SIER OFF H R — ik Ok B O£ 5512 B

7R 1 HLOE 8 5/ 1 HOME L,

BOIER# DO RBIOHE Z AT 2528V TE, ZORBINC X HBIERTOF HE T —iK
B DA B DL S RE 9 2 R BIOBUEICIE SN TS S e

(X, BIE& DRG]



